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108 Kkm apwd . Two boabs hmdbmd’
wdss each othy |

@ Two plawe VL
fom both plaws at same Hme fow
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E"F-. ooak Dmvels S 8+ P and downiteam P to &
?n-épmommiunublwp'fb&ib Y km , He
speed of wodik © L km|kse - find Hhe 8peed of boat

N el wadix ? A) 45 kmlH.
Y " Y = 23l B) 52 kmlHy
B+ & ¢y 45 kmM
opton D sakishies L) 2 kmlH
B= 3 km|Hr.
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(£Z] Buyanka was travelling- in e boat . Suddenly-
a wind blows hoe hat off g slxtd Hoating-
batk downstream - The boat wntinued. +o travel
Upstream for 12 more minuctes befose pruganka

bualised hox hat had fallen off . She twwned btk
downsfream. dnd.&.hg cought up the hat as soon
@ & suached  He stwding- point . If o hat

How off emct_uau s kM DM whew she stascd,
find the speed of watgr 7
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Timne of Catch = ‘5‘; 5, . 107

el 2 mun
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| A boxtman goes 39 km D5 and 25 km U &
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A boatman goes 24 km DS and 36 Km U'S I1n g
Hus . While i+ takes 8+ H 30 go 36 KM D's apq
3 Km Uis - find Hw speeol of boat P

24 o 36xs_ 12/ 4 108 _ 23
Ly 3523 Qxa =z -
Bt B i B
_%‘L‘f_ }-fo:_ - H—“;_ # > +' ..ELB-— — H-
B+ B—W 5. s -
5 _ 18
B-W
Put (Bw)= ¢ ineq)
g-nW= 6
o4 § = 9
BHO
g B+ W = 3
=24 - 3
B+ B— W=25
’B'Hf\.}:. ‘37 E,:-_TI-K-I’T\“'UL

w= L Km |Hx.
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- 2 tong of waky
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find at What speed (- should move such

When i %glns +o 3Nk o sy .ah;qa moves with
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